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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311145
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213112986 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

When a normal student behaves m an erratic manner in the class. you would:

&8 Fobm mCF';E_J SENES° oPrrde (B8N0 808053 9 do IFY?

Options :
Pull up the student then and there.
5030 D0 B2 JeBLEED
55213151001. ™ -
Talk to the student after the class.
S811& So=8 DTLE Sreptharid
55213151002. x

Ask the student to leave the class.

e ﬂmﬂ;g‘sﬁ SO DES E%’;E&:oe‘:ﬁ‘a
55213151003.



Ignore the student.

e PO HBoHE D
o [
55213151004.

Question Number : 2 Question Id : 55213112987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher's most important challenge 1s:

&8 Garreaind (DerdDd Baren
Options :

To make students do their home work

DTdes 208K Dawosto
)
55213151005.

To make teaching-learning process enjoyable

*'”565*""" 53 (BB wFEsss0 Jchto
55213151006.

To maintain discipline in the class room

SEHS KL (Bad ﬁ:‘*é" Jolulnle
55213151007.

To prepare the question paper

'-E""'Eﬂ_,,_‘:""h ?.'JCﬁ.."'“fl:'tﬁ
55213151008.

Question Number : 3 Question Id : 55213112988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A person can enjoy teaching as a profession when he
5 58 oG &V ST D0TBRPHEOE, ©SI8

Options :
has control over students.
DTHe T VADOER SR)ZPE
552131510009.
commands respect from students.
e ol T8 SPolda)d
[
55213151010.
1s more qualified than his colleagues.
JTFRErDe ST7) JE)S DudSen SOA SV
55213151011.
1s very close to higher authorities.
©L%eS Hod FYIRE0 SON eND®
55213151012.

Question Number : 4 Question Id : 55213112989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Maximum participation of students 1s possible in teaching learning through:
*"qﬁ—n"""* B3 (HBcHs® “‘Dﬂ“é:a RSP Sd) DoRPotoT HKE
od oo o

Options :



discussion method

35%) B8
55213151013. '

lecture method

SRTR0 DS
55213151014, i

use of audio-visual aids

&% —-F5e SEFH56ere DI@FNOSEO
55213151015.

Activity based method
S\aeroed SRS D8
g o &
55213151016.

Question Number : 5 Question Id : 55213112990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not important aspect of the teacher's role in learning?

OfRN08 GPETae) (HErs PE Ao vodo HG?

Options:

The development of insight into exam pattern and scoring

HEE Do Sdorre HOE ©{E Sren FHoD o SredoSto
55213151017. 7 ;

The development of insight into the pitfalls and dangers to be avoided

OgdNE° o BEotien HOD [EIrmreH ©fIiN0H JrSSD o
55213151018.



The provision of encouragement and moral support

P50 olcin I8 D vdrio

55213151019.
The provision of diagnostic and remedial help
SPOATBes SOAN AeBes SPsPEo ©oliodtso
55213151020. |

Question Number : 6 Question Id : 55213112991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What do you consider as the main aim of inter disciplinary research?

DG Tpe HEHTROS B0SES TwE), Swgy e

Options :
To bring out holistic approach to research.
HOTEIE® 3o G5B Dofrodosto
55213151021.
To reduce the emphasis of single subject in research domain.
H50S5H505 Jonobod) o8 e Dobs voeR Hoddo Ihdo
55213151022.
To over simplify the problem of research.
HoGme S0 JEFo Jawso
55213151023.
To create anew trend in research methodology.
Do a":cgéo@oc&: SR eBad ﬁéﬁ&oﬁitﬁo
55213151024. )

Sub-Section Number : 2



Sub-Section Id :

Question Shuffling Allowed :

5521311146

Yes

Question Number : 7 Question Id : 55213112992 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Field-work in research is mvolved in:

SEFow DY M &) HoSHe 850
&

Options :
Empirical
WeELE
55213151025.
Historical
oS
55213151026.
Experimental
BIFrES
55213151027.
All the above
55213151028.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 8 Question Id

3
5521311147

Yes

: 55213112993 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a researcher conducts a research on finding out which administrative style contributes
more to institutional effectiveness ? This will be an example of

D Bodrore dopRo KodkNE MEFwS sS@ARITO™ SRUNn: of eodop ol

Options
Basic Research
BEo8 H0EHD
55213151029.
Action Research
s H055S
55213151030.
Applied Research
@S0 H0-385S
55213151031. o
None of the above
RO Ty
55213151032.

Question Number : 9 Question Id : 55213112994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is not correct?

18 - r.'\,f;*' wh = Ty v T e P )
=00 TFPul” T (B3&aarlicn &

Ly



Options :

Obyectives of research are stated normally 1n first chapter of the thesis

Fordmore H08°G 006’ Imiid ermaodt S0 ogred B0,
55213151033.

Researcher must possess analytical ability
0D DI o) 59 somd
55213151034.

Variability 1s the source of problem

S6de Srordo $0SE5T Shrdres agrto
55213151035.

55213151036.

Question Number : 10 Question Id : 55213112995 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A null hypothesis states that

Sy (DN (PSR 3eR 0D

Options:
There 1s no significant difference between the variables
SorHeBH e rHGoSENS Sonogo B
55213151037.

Same as research hypothesis

HOSES (DEONSBI Gotnod
55213151038.



Research results are predictable
HeSETe HDTren SVOHITE &3ZrPoSSASEMT SOt
55213151039.

There is a significant difference between the variables
Sorde g MHZoBENR Somoio St
55213151040.

Sub-Section Number : 4
Sub-Section Id : 5521311148

Question Shuffling Allowed : No

Question Id : 55213112996 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :

Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

The IT'Ts are now under the scanner of the Supreme Court following an SLP for allegedly continiung
irregularities and bungling in JEE for admissions. The apex court has issued notice to the Ministry
of HRD. The SLP was filed by a CS Profat ITT Kharagpur challenging the dismissal ofhis PIL by
the Delhi High Court in June 2010 on the ground that he had no locus standi to challenge the
validity of JEE. They are vet to disclose the complete data of JEE 2010. The evaluation scheme
was changed after the examination and there were serious flaws in admission counselling based on
JEE 2010 results.

The SLP also called for a single entrance examination. replacing all existing exams as IIT JEE.
ATEEE and State exams. It further says that the RTT data on JEE was ridden with many discrepancies
as adhocism in cut off determination. unattended errors in question settings/evaluation. tampering/
shredding of ORS inundue haste. selecting IIT administrators’ wards in some ITTs. closed admission
counseling resulting in irregularities in admissions and seats lying vacant. zero accountability for
attending to apparent etrors, poor ethics in JEE administration etc.

Proposals for corrective reforms have also been suggested in the SLP. A committee of independent
experts to formulate single examination system rather than close-door committee of four IIT
Directors too has been suggested. It has proposed seven reforms for JAB including release of
model answers along with solutions immediately after the examination is over, releasing of marks
at the time of results besides publishing status of vacant seats and filled-in seats on day to day basis
during the adimission counselling.
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Sub questions

Question Number : 11 Question Id : 55213112997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

What 1s wrong with II'Ts now?

STy [ITS® 2200 ST HNE?

Options :
They have academic freedom.
08 TR0 KooGodS R &0l
55213151041. =
The get enough funds.
SN Agben FPoth&HT
55213151042.
There 1s mismanagement of admissions.
D& SerovoPudteisssten
55213151043.
Education in ITTs 1s very expensive.
[[Ted® 5tH) Trer pERIt.
55213151044.

Question Number : 12 Question Id : 55213112998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Why did the High Court dismiss SLP?
';3;"?% SLP Q0595 89 Jooh?
Options :

It has no truth mn 1t

TR SH0 B
55213151045.



Itis expensive
30 o RS0
55213151046.
Plamtitf does not belong to that area
Ro0dD & [FromEdl Told T R
55213151047.
The data was not correct
eR RORO =D
55213151048.

Question Number : 13 Question Id : 55213112999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



Which are not discrepancies of JEEs?
JEE G &°aren 5200 2D?
1L Cutoff determunation
Sedesn Q8o
1. Mistakes in question settmgs/evaluation
©H3 oD Ddord Do Srerostes® Edpen
m.  Tamperng of ORS leisurely
ORS 9 Taylre Shosto
. Selecting IIT administrators " wards i some ITTs
IIT Qoviren ) TEED 008 550
v.  Closed admission counseling with uregularities in admissions
$BEPRo®, B (H3F @B eEsren
.  Total filled seats
0 Dol Se DSoeen
vi.  Non-accountability for errors
e uromebsso 86
vi.  Bad ethics in JEE admuinistration

JEE ©&° ¢385 devde [@rsngrs

Options :

111 and vi

111 3050 Vi
55213151049.

nandv

1300 v
55213151050.

55213151051.



v and 1

Vil 300w 1

v and vit

1V s08ctn v
55213151052.

Question Number : 14 Question Id : 55213113000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the plan of the SLP?

SLP &n%) (Heds o20d?

Options :

To conduct a common entrance test

2.8 Arrde (BRE a..L.-S QG roSEeRs
55213151053.

To conduct tests at various levels

EeEAlw] :‘ﬂom &° ($3¥ HEZen RE-irosto
55213151054.

To mvite foreign admissions

Do BBTERos e Dosto
55213151055.

To mvest further m education

a,ci@" 00od mu”“ﬂ -y eﬁe:cﬁo
55213151056.



Question Number : 15 Question Id : 55213113001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

How can the examination system be improved?

SO D Der HIHDHDOL?
-

Options :

By going for online assessment

OIES 2RVoT D Ko T
55213151057.

By mntroducing CBTs

CBT o $0sabo Hahiso wooe
55213151058.

By making the examination descriptive

Davere)s 865 oo
55213151059.

By implementing the reforms

JoBred v Iabio TrT
55213151060. e
Sub-Section Number : 5
Sub-Section Id : 5521311149
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213113002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s called dyadic commumnication?

& (@00 8 DO BES 55 dNAT 09 DeSntHEod?

-

Options :

Intrapersonal communication

0I0F TR SredBHaS
55213151061.

Iutelpemoual commumication

5088 HHNS émﬁ::s’iﬁ
55213151062.

Group communication

PEPErS SHTTIEHS
55213151063.

Mass commuunication

P 2RS S0 OSES
55213151064.

Question Number : 17 Question Id : 55213113003 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Some of the following lines are not related to oral communication. Find them out;
& (8ob Doed® FR) TS Sirmd (@Hrcod® Sonogo 30N BY. ED STk,
1 [tisspontaneous and natural
50 SPEREDIO SO SPEDI
i [tisnotnatural
30 BP0 D
m Itiseasy for others to understand
s8heD ebo TE%iko ego
v, Itis somewhat difficult tounderstand
20 Fos S8 eo RS0 %0
v. Itdevelops a good relationship between a speaker and a listener
50 35 B0 JRr0 Hify Hod donored) §HA Fhod
v Choice of words 1s one of the major things
Hro Q085 @R0 (SN FaE wid
vii.  Itis supported by non-verbal communication
50 Bisrd SirarS (@ERrdo eraed) pedtRol
i Itisnot co-related with non-verbal communication
20 BUrd SarmroeRd SiFEdonotio =
The right answer according to the code i

55 (Hz80 $BX SaireFRo

Options:

L uandiv

1. 113508 1v
55213151065.

v. viand vi1

V. V1 2508050 vil
55213151066.

viL viil and 1

Vi1, Vi1l 00 1
55213151067.



1. 1vand v

11, 1V 300 Vil
55213151068.

Question Number : 18 Question Id : 55213113004 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the followmng :
& |Bol D wED0d

List -1 List-II
=lr-1 i -2
1. Physical Barriers . Semantics

T85 o 8 Boewsialn (ReiroéS)

2. Psychological Barriers b. Technology
SRRRE eode POSBES (Bed)
3. Lngwstic and Cultural Barriers c. Hall Temperature
‘ B i 5O e288
P4 HOa oK) 185 vhowe i3
4. Mechanical Barriers d.  Self-image
ol L2
DRSS eione o) Higw
Codes:
G
Options :
l-c, 2-d, 3-a, 4-b
552131510609.

1-b, 2-d, 3-a, 4-¢
55213151070.



55213151071, 1-& 2-d: 3-¢, 4-b

1-d, 2-c, 3-a, 4-b
55213151072.

Question Number : 19 Question Id : 55213113005 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

communication includes individual reflection. and contemplation.

RoFRE’ ai;%r’ié @800 DO DINV0 ST,

Options :
Intra
2ESBo
55213151073. =
Inter
LOHSS
55213151074, 2
Mass
e e
55213151075.
Oral
%ﬂ@.g
55213151076.

Question Number : 20 Question Id : 55213113006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the most important quality of a good teacher?

o) rHhsy ny) B8 ey eFeo Hnd?

) [y

Options :
Written commumnication skill only
088 J3rerordS KowoGoH Jeo IrE
55213151077.
Command of the subject
RT3 WBI Hew 50N oo
55213151078.
Distance from the students
e ool Erdore ot
o
55213151079.
Compassion for students
e ero 580 eoliéco
=) [
55213151080.
Sub-Section Number : 6
Sub-Section Id : 5521311150
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213113007 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A tram of length 120 meters long travelling with a speed of 54 kmph can cross a bridge of length X
in 30 seconds. The length of the bridge X (in meters) 1s

X Qe T $08%D 120 DY Pyie Ten, fotrdh 54 858 Twe Holrdr 30
26008 TEI6. 8 H088 TS ()

Options :

55213151081.

120
55213151082.

450
55213151083.

55213151084.

Question Number : 22 Question Id : 55213113008 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The compound mterest on the principal amount ‘P* for two years with the rate of 8% p.a. 1s Rs.
2.496. 1f the mterest 15 compounded annually. Then principal amount ‘P* 1s (in Rs.)

ATOQPN0 P’ 2 W06 )05 8% :Jt;is WP, B0 006 008 o B8 ar. 249
(509805055 BERKED HBB), @ond HFedN0 Errahod)
Options :

12,000
55213151085.

2496
55213151086.



15,000
55213151087.

20,000
55213151088.

Question Number : 23 Question Id : 55213113009 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A" and ‘B’ mvested an amount Rs 21,000 and 17,500 respectively in a business. At the end of the
year, they make a profit of Rs. 26.400. Their individual shares m the profit s

2.8 T5rlsne A HOOM B © DEPBEN SEXT EF. 21,000 O 8r. 17,500 2,
N0 YTP0eh TO eraiand &, 26,400, 7ol & 0 aeren (&, 0F)

Options :
1.440: 1.200
55213151089.

14.400: 12.000
55213151090.

12.000; 14.400
55213151091.

1.200:; 1.440
55213151092.

Question Number : 24 Question Id : 55213113010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If P’ can produce 60 cakes in 9 days and ‘Q” can produce 70 cakes m 21 days, The number of days
required to produce 100 cakes together (in days) 1s

P “‘*\J“feo 60 Hod 9 Szod sardBodiod. B ek 10 oo 21 Sred
Xr&Tahko. 8890 0% 100 30 ) Fred dordEs ’%@fo’

Options :

3
55213151093.

9
55213151094.

10
55213151095.

11
55213151096.

Question Number : 25 Question Id : 55213113011 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the following sequence 1s:
1806 ngc‘fméé S HODS QO
4,12, 84, 3612,

Options :

6526884
55213151097.



6523272

e

55213151098.

Fep il
55213151099.

14448
55213151100.

Question Number : 26 Question Id : 55213113012 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing group of letters in the following sequence is:
i b b Y v, W
808 E00S” SD0DS @0F T°e HAFTO:

SAB, RBB, QCD,PDD, =, NFF

Options:

CBY
55213151101.

55213151102.

OEF
55213151103.

YD
55213151104.



Question Number : 27 Question Id : 55213113013 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘CGIN’ 1s related to “ACDEF’. in the same way ‘DINQ’ is related to
‘CGIN’ & ‘ACDF’ & 0200850 §0¢%. eF dsnm DINQ’ & Ho20855m

Options:

BEHJ
55213151105.

BEHI
55213151106.

BEGI
55213151107.

BEGI]
55213151108.

Question Number : 28 Question Id : 55213113014 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a certamn code language, 1f the word ‘SPHERE’ 1s coded as EREHPS, then how 1s the word
"EXHIBITION’ coded in that language

2.£ 0% §6 2726 SPHERE 00 ‘EREHPSTT 44000, & 66 27i® EXHIBITION’ 30
Jer §8 &onad

Options :



NOTITBIHXE

552131511009.

NOITIDIHXE
55213151110.

NOITIBIHWE
55213151111.

NOITIBIHXE
55213151112.

Question Number : 29 Question Id : 55213113015 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

X+Y means X 15 the son of Y. X~ Y means X is the daughter of Y. X x Y means X s the father of

Y. X/Y means X is the mother of Y. IfAxB/C-D/E. then A ts related to E i3
X+Y @ X, Y G08) . X- Y @dm X, Y 008, Srehd. X x Y o X, Y 008} ok, X/ Y
O X, Y 0% 0. AxB/C-D/E @ond A0 E &Ko H50aodm

Options:

Husband

230
55213151113.

Brother

FCOBOCD
55213151114,

Uncle

23°23P00 / 623%6N)
55213151115.



Brother in law

27 / 2”000
55213151116,

Question Number : 30 Question Id : 55213113016 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a class of students, 35 play cricket, 65 play football and 20 play both cricket and football. How
many students play at least one game.

28 SSEBSR Ao 55 500 B3 edad, 65 006 HEr)S sdeEd, HO0 20 H0O
Boch sten (B35 A H)er)6) ederd. Sdno 28 et e driden Jodd

Options :
100
55213151117.
120
55213151118.
&0
55213151119.
20
55213151120.
Sub-Section Number : 7
Sub-Section Id : 5521311151
Question Shuffling Allowed : No

Question Id : 55213113017 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (31 to 35)
Question Label : Comprehension

Note: The questions Q. 31 to Q. 35 are based on the following information:

Habd: 9400 Q.31 0 Q.35 508, 808 darardo errdom &) on.
The number of students passed in class X of a school, in the three sections A, B and C , i four
subjects: Mathematics, Physical Sciences, Biological Sciences and Social science, is presented in the
followmg multiple bar diagram. Assume the number of students i each section is 40.
W TS, 105 s518S, 2, B Q00 ¢ oF Srd drrod, Tol dadred:
i, T8 TR, A9 TR SO Fod T & 48888 dde doay, &
Bod amd Tyrdgos WébptaFw. W8 drfoda Amde wog; 4w

4000080 &arohsod,

Mathe Physical Biolog cal Social

Sub questions



Question Number : 31 Question Id : 55213113018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The maximum possible number of students in section A, who passed in all the four subjects is,
o 'y ] T .Y 4 4 v, £ P S I Y A i
derko A S &) deded, Tend oo, K8a0T Gad)B dmide do;,

Options :

28
55213151121.

31
55213151122.

39
55213151123.

26
55213151124,

Question Number : 32 Question Id : 55213113019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Out of the number of students passed in Physical Sciences, the pass percentage of students in section
Bis

T & — &y
FRETIT0S 68088 dde 2093, 8B 62 6808 dode Téo

Options :



55213151125.

31.95
55213151126.

32.98
55213151127.

35.05
55213151128.

Question Number : 33 Question Id : 55213113020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The number of students in section C who failed in biology is

TR, b oo e = f — T T " .Q’—:'ﬂ"\ﬂ*-. n o W e
BT R0 ORI, WE® 'C' SR T ;DO DO

Options:

55213151129.

55213151130.

11
55213151131.

14
55213151132.



Question Number : 34 Question Id : 55213113021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

On the three sections. the percentage of passing students in Mathematics is
Lurch Derme IS0, idsoS B o idhe Teo

Options :

40.3
55213151133.

68.4
55213151134.

13.3
55213151135.

80.8
55213151136.

Question Number : 35 Question Id : 55213113022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In which subject 89.166 percentage of students passed ?
P w4 = o - &y ;
D DACHO S 89.166 T°H0 HOO &3

Options :

55213151137.



Mathematics

HE3es 50

55213151138.

55213151139.

55213151140.

Physical Sciences
2T edE A e

Bilogical Sciences
2805 T Q3

Social Sciences
RO PAVEIE K [NV

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

8
5521311152

Yes

Question Number : 36 Question Id : 55213113023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
MICR stands for

MICRe&T

Options :

55213151141.

55213151142.

Magnetic Ink Character Reader

OIHTOS VTP BZTD) SO36

[="9

Magnetic Ink Code Reader

OIS VTP 558 3030



Magnetic Ink Cases Reader

©IHI8 bo ShHeod SO
55213151143.

Magnetic ink code recorder

©IHFES doe 558 TR0
55213151144.

Question Number : 37 Question Id : 55213113024 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s embedded system?

QoTRE 5358 2d?
¥ @

Options :
The programme which arrives by being wrapped in box.
a5 ffn....' B'Ju @tm.’ﬁ

55213151145.
The programume which is the permanent part of the computer
Soel &8 gritorr Hot [BHrd

55213151146. =
The computer which 1s the part of a big computer
Y Sogeel grriore $o% Soxgeerl

55213151147.

The computer and software system that control the machine

a8 aholerd) B80T Sogeed ook FHI6
55213151148. = = "



Question Number : 38 Question Id : 55213113025 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Options :
Cookies
5r8)
55213151149. .
Plug-ns!
2N-B%
55213151150.
Scripts
(8953
55213151151. ko
ASPs
55213151152.

Question Number : 39 Question Id : 55213113026 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Protocol used by e-mail 1s

e- oS 6 Fe® =5

Options :

FIP
55213151153.

TCP
55213151154.

ID
55213151155.

POP
55213151156.

Question Number : 40 Question Id : 55213113027 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

As apart of Government to Business (G2B) intfiative the Government of Inidia has started the

followmg protral

(©B30&0 Dol ardaro (G2B) & wriforr 88 (B3080 (EF80fods Eb"ﬁgab"

Options :
GEM
Tatesl Dy
55213151157.
Diamond
o

55213151158.



Gold

selelgilele)
55213151159.

Chanakva

eeese
55213151160. -

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

9

5521311153

Yes

Question Number : 41 Question Id : 55213113028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Chipko movement is a public agitation that occured in

Ty

2% stirho a8 20nol.
Options:

Mansbal area of kashmur

58,86°0 Srdfad (Frdo
55213151161. =

Silent valley of Kerala

-

8P Do

il

55213151162.

Sunderbans area of Bengal

Torre Jols 55;3
55213151163.

55213151164.



Ther1 Garhwal area of Uttar Pradesh

&8BNTIE®D BIr 1OS (Frodo

Question Number : 42 Question Id : 55213113029 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Higher amount of sulphur -dio-oxide (SO,) is emitted i the atmosphere by —

FES8eos® vfsor ¥e)6 Be8)E (SO,) & dbthe TR
Options :

Sugar Industry

S8 HOIER
55213151165. a

Thermal Power plants

585 D8 Soren
55213151166.

Food processing industry

©FE [aranof R0
55213151167.

Bulk drug manufacturing Industry

TR whs EJ.-'E.;.D SAPHTAD HOEH
55213151168.

Question Number : 43 Question Id : 55213113030 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who said that the forest should be saved not because they are beautiful or because they shulter

wild creatures of the wilderness, but to only provide homes are jobs to people.

wotio 55ar B8 S de yievRs el =¥ BaeD 60, S Anerdd

©UIod Srbéored 00 ASh?

Options
Aido Leopold and Rachel Carson
08 OTFrS, O3S 2885
55213151169. =
Theodore Rosuest and pinchot
OTeE S S, Dot
55213151170. -
John muir and wangal Maathai
PR auronb, sond drmedd
55213151171.
David Brower and Barry Commoner
GO8 (58, =6 =0s8
55213151172.

Question Number : 44 Question Id : 55213113031 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Developing Nations were commutted fo drawing up their own plans for the emission reduction

for the first time m

e T0LER) Taped 4TFT0 B10GH 85 $r08 (HemdSe doind & SirFddod® Moot



Options :
Cop-20 Lima Climate Conference

.

B, r B s sl e, . el - all”

NEa=20 Dae Horratits Jarado
=

55213151173.
Cop-19 Warsaw Climate conference
& =19 Troe Hoereites & SrRdo
55213151174.
Cop-18 Doha Climate Conference
2e.2-18 P Homtes JErIdo
55213151175.
Cop-11 H}-’derabad climate conference
ded-11 Frioeerd HoeHde Sarado
55213151176.

Question Number : 45 Question Id : 55213113032 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The 2018 meeting of the G-7 Countries + k place in La Malbaie, Quebec, Canada and Donald
Trump administration officials even declined to use the phrase ‘climate change’ and instead talk

about
20186° e Srdirdh, 785, Sxeedt 20AS &-7 Do Sar3dodt ﬁ?mv ©0% ©lsd

=5
@&Per Dot Sr) OF Hed) PULPAS 859000, S0t atherr & %

Options :
Environmental resilience

Soeratios O mfan_]
55213151177. =



Sustainable Development

-

Ral(rday B
55213151178.

Ecological Economy

©0s Dot
55213151179. . =

Environmental Audit

JD"':wé..:.a..'ﬁ-DFF Fslabnsilalels
55213151180.
Sub-Section Number : 10
Sub-Section Id : 5521311154
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213113033 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Today's Education system at higher education level is :

IO D I - SN DT %noaafﬁ & DFore &)

Options :

Supports traditional nature of teaching

Fodah S BEBD Doy
55213151181.

It is complex in reaching people

55213151182.



Imparts education according to social stratification

GeeloL-evt] ébé £ (@se8o DRotdol
55213151183.

Imparts same education to all strata of society

J3re06t) ©f Scre 08 e B 85305 SrS00%00
55213151184.

'L

Question Number : 47 Question Id : 55213113034 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Autonomy in higher education doesn't include freedom for the institutions in:

= :;u

ﬁé&e’ &:F“R.’r:@ Erdhded "‘"w‘@ﬁ ) &oéwﬁo =

Options:

Achnjnismﬁoﬂ

PO TOTED

55213151185.

Policy-making

HEseoRd Brarofiosto
55213151186.

Fimance

elsroTeeD
55213151187.

Curriculum development

iﬂm‘;m?u DseRdo
55213151188.



Question Number : 48 Question Id : 55213113035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Environmental education is important for the students of higher education because

68 [LHR0D e dovEte: D Erangro QothERm?

o

Options :
to give them expert knowledge
DHSH JHee; HPrY) wolEcHRS
552131511809. '
to develop their awareness
BTN DOl oSS
55213151190.
to make them responsible for taking care of environment
QDoeites HOOFRH wrLid HirolteR8
55213151191.
to leave them with their own choice towards future environmental consequences
A8 HorStes HorESTFeN $020008 O Hrah efSSH S0DTahmDS
55213151192. = =

Question Number : 49 Question Id : 55213113036 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NAAC is an autonomous institution under the aegis of:

Jraho (H858He S0 NAAC 50 86508° HOTND?
3]

Options :



8. 2. DR, wR.es8
55213151193.

CSIR

. . 0.8
55213151194,

AICTE

a.0.0.8.9
55213151195.

UGC

Bk = 2

55213151196, “o0-&-

Question Number : 50 Question Id : 55213113037 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Ancient Gurukulas differ from modem residential schools m providing except th following :

Yo oo™ MthHerer BHS BEDH FTeed®d Boff W) e.58 &) Shdrare

EZE:O:OBSJ

Options:
Accommodation
C‘C—..n\rﬁu{-r:\cm

55213151197, o %
Knowledge
DRSH DoeeRo

55213151198.

55213151199.



Vocational skills

<8y D emmreT
D&IE Gl U'E.A.-

fed

Universal Access

8BS ©othoren

55213151200.

Group Number:

Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

LAW

LAW

2
552131172
120

120

No

No

0

200

No

Cant View

No

552131172
1

Online
Mandatory

100



Number of Questions to be attempted : 100

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 5521311155
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213113038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a statement of Salmond?
Options :

Law 1s no doubt a remedy for greater evils yet it brings evils of 1ts own.
55213151201. -

55213151202 All laws do not produce law and all law 1s not produced by laws.

££213151203. Law is not right alone or might alone but the perfect union of the two.

55213151204, Law neither makes the sovereign nor limits his authority.

Question Number : 52 Question Id : 55213113039 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



In Hohfeld’s analysis. which of the following 1s a pair of jural contradictories?

Options:

Right — Duty
55213151205.

Duty — Liberty
55213151206. 2 7

Power — Liability
55213151207.

55213151208, Lmunity — Disability

Question Number : 53 Question Id : 55213113040 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who among the following subscribed the view that ‘law and morality are inseparable phenomenon’?

Options :

Analytical jurists
552131512009. -

Natural law philosophers
55213151210.

55213151211, Sociological jurists

American realists
55213151212.

Question Number : 54 Question Id : 55213113041 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List-I (exponents) with List- IT (schools) and select the correct answer using the codes given

below:
List-1 List- 1T
[. Bentham a. Philosophical School
2. Ehulich b. Historical School
3. Kant ¢. Sociological School
4. Vinogradoff d. Analytical School
Options :
55213151213, 176 28 3-d. 4-b
-qA e 5 s
55213151214, 170 2°¢ 3. 4-a
c. ?2-d. 3- %
55213151215, 17C 2-d: 3-a, 4-D
1-d. 2-c. 3-a. 4-b
55213151216.

Question Number : 55 Question Id : 55213113042 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I (theories of corporate personality) with List-II (exponents) and select the correct
answer using the codes given below:

List- 1 List- I
1. Purpose theory a. Friedrich Von Savigny
2. Bracket theory b. Otto Van Gierke
3. Realist theory ¢. Rudolph Ritter Von Ihering
4. Fiction theory d. Ermnst Immanuel Bekker
Options :
l-c. 2-a. 3-d. 4-b
55213151217.
1-d. 2-c. 3-b. 4-a
55213151218.
l-c. 2-d. 3-a. 4-b
55213151219.
1-d. 2-¢c. 3-a. 4-b
55213151220.

Question Number : 56 Question Id : 55213113043 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List-I ( Jurists) with List- IT (Contributions) and select the correct answer using the codes

given below:
List-1 List-II
. H L A Hart a. The Growth of the Law
2. Lon L. Fuller b. The Concept of Law
3. Bemjamin N. Cardozo c. The Path of the Law
4. Oliver Wenedll Holmes d. The Morality of Law

Options :



1-d. 2-c. 3-a

55213151221,
-d. 2-c. 3-b
55213151222,
= '.'}- =l.
55213151223, 1 0: 274 3-a
-b. 2-d. 3-c

1
55213151224.

. 4-b
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Read Assertion (A) and Reason(R )

Assertion (A): All rules of law hav

and point out the correct explanation given below:

e historical sources.

Reason (R): The legal sources are the only gates through which new principles can find
enfrance in to the law.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

55213151225.

55213151226.

Both (A) and (R) are true. but (R) 1s not a correct explanation of (A)

(A) 1s true but (R) 1s false

55213151227.

(A) 1s false. but (R) is true

55213151228.
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Read Assertion (A) and Reason(R ) and point out the correct explanation given below:

Assertion (A): A primary right can be either a right in rem or a right in personam.
Reason(R): The sanctioning right which arises from the violation of a primary right will
be in all cases a right in personam.

Options :

55213151229, Both (A) and (R) are true and (R) 1s the correct explanation of (A)

Both (A) and (R) are true. but (R) 1s not a correct explanation of (A)
55213151230. " c

(A) 1s true but (R) is false
55213151231.

(A) 1s false. but (R) is true
55213151232. i
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Read Assertion (A) and Reason(R ) and point out the correct explanation given below:

Assertion (A): Global justice would seem to require a global theory - a single philosophically
grounded account of global justice is impossible,

Reason (R): The diversity of cultures and the plurality of states make it unlikely that a single
account of justice could ever be persuasive across the globe.



Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
55213151233.

Both (A) and (R) are true. but (R) 1s not a correct explanation of (A)
55213151234. '

(A) 1s true but (R) is false
55213151235.

(A) 1s false. but (R) 1s true
55213151236.
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The following are the cases relating to finder’s rights. Arrange them in the chronological ~ order in
which they were decided. Answer by using the codes given below:
1. South Staffordshire Water Co. Vs, Sharman
1. Elwas Vs, Brigg Gas Co.
i, Hannah Vs, Peel

iv. Bridges Vs. Hawkesworth

Options :

i, 11 , 111 and 1v
55213151237.

1v. 111. 11 and 1
55213151238.

1v. 11. 1 and 11
55213151239.



1. 1v. 111 and 11
55213151240.
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Which of the following 1s/are correctly matched? Answer by using the codes given below:
1. Acquinas — Eternal law
1. Pound - Jural postulates
i, Kant — Categorical imperative
iv. Henry Maine - Status to contract

Options:

1 only
55213151241.

1 and 11
55213151242.

1. 11 and 111
55213151243.

1. 11. 111 and 1v
55213151244,
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Identify the correct statement (s) from the following and answer by using the codes given below:
1. The term ‘Legal Theory” was coined by Friedmann,
i. The expression ‘no-right’ was first time used by Hohfeld.
il  The word ‘jurisprudence’ was first time used by Salmond.
iv. The expression ‘natural law’ was comned by Bentham.

Options :

1 and 11 are correct
55213151245.

1 and 111 are correct
55213151246.

55213151247, 11 and 1v are correct

11 and 1v are correct
55213151248.
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Which of the following are correctly matched? Answer by using the codes given below:
1. Julius Stone - The Province and Function of Law: A Study i Jurisprudence

1. Bentham - The Province of Jurisprudence Determined

1. Austin - The Limits of Jurisprudence Defined

iv, Kelsen- The General Theory of Law and the State

Options :

1 and 11 are correct
55213151249,

1 and 111 are correct
55213151250.



1 and 1v are correct
55213151251.

11 and 111 are correct
55213151252.
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Salmond enumerated the five chief characteristics of a legal right as stated below. Indicate the
correct sequence in which they were stated by Salmond. Answer by using the codes given below.
1. The person of incidence
i The person of mherence
il The title of the right
iv. The content of the right
v. The object of the right

Options :

1, 11, 1v, v and 1ii
55213151253.

1. 111. 1v. v and 11
55213151254,

11. 1. v. 111 and 1v
55213151255.

i1, 1, v, 1v and 111
55213151256.
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Who among the following is a prominent participant in Critical Legal Studies movement?

Options:

Roberto Unger
55213151257.

Karl Llewelln
55213151258.

Julius Stone
55213151259.

Roscoe Pound
55213151260.
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India became Sovereign Democratic Republic on —

Options :

Aug 15™ 1947
55213151261.

Jan 30T 1948
55213151262.

Jan 261 1950
55213151263.

Nov 26™ 1949
55213151264.
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Which of the following is correct in connection with Parliamentary democracy in India

Options:

Executive controls Legislature
55213151265. &

Legislature controls Executive
55213151266. &

55213151267 Executive and Legislature are strictly separate

Judiciary controls both Executive and Legislature
55213151268.
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In the Election of the President of India. each Member of Electoral College has —

Options :

55213151269, N Vote

As many votes as there are candidates
55213151270.



One vote with the value attached to 1t
55213151271.

One vote with the value attached to it and can give as many preferences as there are

candidates
55213151272.
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Arrange the following cases in a chronological order as per the period of judgment
1. Express Newspapers Vs. Union of India
ii. Sakal Papers Ltd. Vs. Union of India
1. Ramesh Thapper Vs. State of Madras
1iv. Bennel Coleman and Co. Vs. Union of India

Options:

1. 111. 11 and 1v
55213151273.

1. 11. 111 and 1v
55213151274.

111. 11. 1 and 1v
55213151275.

11, 11, 1v and 1
55213151276.
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Assertion(A): The rule making power of the Supreme Court 1s not subject to any law made
by the Parliament of India

Reason(R): The Supreme Court only with the approval of the President of India can make rules to
regulate its procedure

Options :

Both (A) and (R) are true and (R) is correct explanation of (A)
55213151277.

Both (A) and (R) are true. but (R) 1s not correct explanation of (A)

55213151278.

(A) 1s true. but (R) 1s False
55213151279.

(A) is False. but (R) is true
55213151280.
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Choose the case which is not related to the other cases regarding the constitutional principle evolved
by the Supreme Court

Options :

55213151281 Naz Foundation Vs. NCT of Dellu
Navtej Singh Johar Vs. Union of India

55213151282.

Commeon Cause (a registered society) Vs. Union of India
55213151283.



Indian Young Lawyers Association Vs. Kerala
55213151284.
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The fundamental duties are intended to serve as reminder to :

Options:

The State to compel citizens to perform duties conferred by the Constitution
55213151285.

The judiciary to administer justice properly
55213151286.

Every citizen to observe basic norms of democratic conduct
55213151287.

The legislature to make laws for the welfare of the State
55213151288.
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The doctrine of ‘Basic Features” under the Indian Constitution was conceived by the dissenting judge

in which of the following cases:

Options :

cc9131512g9, ~esavananda Bharati



Sajjan Singh
55213151290.

Kunhikoman
55213151291.

Bela Benarji
55213151292.
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Consider the following and find the correct answer
1. Parliament can extend but cannot curtail the jurisdiction and power of the Supreme Coutt
i. No discussion can take place with respect to the conduct of judge of the Supreme Court in

discharge of his duties

i1 A retired judge of the Supreme Court can appear or plead m any court or before any authority
within the territory of India

iv. The salaries and allowances of the Supreme Court are fixed by the Constitution and charged on
the Consolidated Fund of India

Options :

1. 11. 111 and 1v
55213151293.

1. 11 and 111
55213151294,

1.1 and 1v
55213151295.

1. 111 and 1v
55213151296.
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Match the following :
ListI List II

1. Parliament’s power to make law on State subject a. Art. 253
for the whole or any part of India during emergency.

2. Parliament’s power to make law on State subject with b. Art. 250
the consent of the States

L)

Parliament’s power to make law on State subject i the c. Art. 252
national interest.

4. Parliament’s power to make law on State subject to give d. Art. 249
effect to international agreements.

Options:

1-b. 2-c. 3-d. 4-a
55213151297.

1-b. 2-d. 3-c. 4-a
55213151298.

l1-a. 2-b. 3-c. 4-d
55213151299.

l1-c. 2-a. 3-d. 4-b
55213151300.
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In which vear the Election Commission of India was constituted?

Options :

55213151301, 1+
55213151302, L0
55213151303, 177V
55213151304,
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The State Election Commussioner can be removed on the recommendation of

Options :

Law Minister
55213151305.

Chiet Election Commissioner
55213151306.

Governor of the State
55213151307.

Chiet Justice of the State
55213151308.
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The concept of Rule of Law 1s a special feature of the constitutional system of:

Options :
55213151309, Driaul

USA
55213151310.

France
55213151311.

Switzerland
55213151312.
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Which of the following is not a key feature of the Separation of Powers?

Options :

The same person should not form part of more than one of the three organs of the Government
55213151313.

One organ of the Government should not control or interfere with the work of another
55213151314.



55213151315, Everyone is equally subject to Law

One organ of the Government should not exercise the functions of another
55213151316.
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Which one of the following statements 1s false?

Options :

Judicial review allows a High Court judge to examine the lawfulness of decisions made by

public bodies carrying out their public functions
55213151317.

Judicial review is not available where there 1s a right of appeal agamst the decision of a public body
55213151318.

‘Public’ means that the body making decision 1s governmental and the decision it makes

concern the rights citizens generally rather than purely private right.
55213151319.

Judicial review allows the High Court to review enactments.
55213151320.
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Convention on Status of Refugees 1951 primary focus 1s on



Options :

International migrants
55213151321. =

Internal displacement
55213151322.

55213151323, Immigrants

The conditions of treatment of Refugees
55213151324.
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Which Conventions are considered as 'source of mternational law' under Article 38(1) of the ICJ Statute?

Options :

All Conventions that are in force at the time of dispute
55213151325.

International conventions. whether general or particular. establishing rules expressly

recognized by the contesting states
55213151326. &

All Conventions that have been concluded between the parties to the dispute. regardless

55213151327, whether they are in force

Only Conventions that are multilateral and of paramount significance
55213151328.



Question Number : 83 Question Id : 55213113070 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): International convention is the most important source of law.

Reason (R): International convention has generic wisdom.

Options:

55913151329, Both (A) and (R) are true and (R) 1s the correct explanation of (A).

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
55213151330.

(A) 1s true. but (R) 1s false.
55213151331.

(A) 1s false. but (R) 1s true.
55213151332.
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What 1s the 'optional clause' in the ICJ Statute?

Options :

Optional clause is the clause in the ICT Statute. which provides for the applicable law. according to

the intention of the parties
55213151333.

Optional clause determines the intention of the parties to accept that the decision of the Court will

55213151334, D¢ fal and binding



Optional clause is the declaration deposited by a State. whereby it accepts the jurisdiction of the
Court in respect of international legal disputes in relation to any other State accepting the same

obligation.
55213151335.

Optional clause is the clause that the parties deposit. which sets out the procedure of the written

and oral pleadings
55213151336.
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What 1s the Declaratory Theory of Recognition?

Options :

55913151337, Recognition 1s determinate for the existence of statehood

Recogmition 1s simply declaratory of statehood but not determinate
55213151338. )

Recognition 1s merely a declaration of interest
552131513309.

Recognition requires a declaration by the newly-created State
55213151340. “ 2 >
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What 1s the name of the first International Convention with which the modern international
Humanitarian Law started?

Options :

Geneva Convention.1865
55213151341.

Geneva Convention. 1866
55213151342.

Geneva Convention. 1868
55213151343.

Geneva Convention. 1864
55213151344.

Question Number : 87 Question Id : 55213113074 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List — T with List — IT and select the correct answer using the codes given below:

List-I List-II
1. ILO a. Intellectual Property
2. WHO b. Maritime
3. WIPO ¢. Health
4, IMO d. Labour
Options :
1-d. 2-¢c. 3-a. 4-b
55213151345.

55213151346.



g P .
55213151347, 1°C 2-d. 3-a. 4-b

o 7 1.0 A=
55213151348, |70+ 27 3-c. 4-d
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Decisions of the General Assembly on important questions are made by

Options :

One-third majority of the members present and voting
55213151349.

Two-third majority of the members present and voting
55213151350.

Member states which vote in favor of a resolution shall be half
55213151351.

All the member States of General Assembly
55213151352.
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One of the objectives of International Humanitarian Law 1s-

Options:



55213151353.

55213151354.

55213151355.

55213151356.

Protection of Domestic Human Rights

Protection from the consequences of armed conflicts

Protection of States

Protection of Treaties
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Which Section of the Indian Penal Code. 1860 has defined “Voluntarily’?

Options :

55213151357.

55213151358.

55213151359.

55213151360.

Section 3

Section 11

Section 39

Section 21
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Under Section 326B of IPC. voluntary throwing or attempting to throw acid shall be punished — with
imprisonment of either description for a term which shall not be less than

Options :

5 Years
55213151361.

10 Years
55213151362.

2 Years
55213151363.

3 Years
55213151364.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Under section 80 of the Indian Penal Code, 1860, the exception of ‘accident’ is available when an

offence 1s committed while
Options:

Doing a lawful act in a lawful manner by lawful means
55213151365.

Doing an unlawful act in any manner by any means
55213151366.

Doing a lawful act in an unlawful manner by any means
55213151367.



The lawful act i1s done n a foreign country
55213151368.

Question Number : 93 Question Id : 55213113080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A man shall be guilty of the offence of Sexual Harassment under section 354A of the Indian
Penal Code if he commits:
1. Physical contact and advances involving unwelcome and explicit sexual overtures,
il. A demand or request for sexual favours.
i1, Showing pornography against the will of a woman,

iv. Making sexually coloured remarks.

Options :

1 and 111
55213151369.

1. 11 and 111
55213151370.
55213157377, 1 And1v

1. 11. 111 and 1v
55213151372.

Question Number : 94 Question Id : 55213113081 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

In which of the following case the right of private defence of body does not extend to causing of death?

Options :

Assault with the intention of wrongfully confining a person
55213151373.

Assault with the intention of committing abduction
55213151374. e

Wrongful restraint
55213151375.

Assault with the intention of gratifying unnatural lust
55213151376.

Question Number : 95 Question Id : 55213113082 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘X" knows that ‘Z" to be behind a bush. ‘Y” does not know it. ‘X", intending to cause ‘Z's’ death
induces ‘Y" to fire at the bush. °Y" fires and kills °Z’. Here

Options :

Y’ may be guilty of no offence: but ‘X" has commutted the offence of culpable homicide.
55213151377. ~

‘Y’ has committed the offence of culpable homicide
55213151378.

Both “X’ and Y~ have committed the offence of culpable homicide
55213151379.

Neither “X" nor Y " has committed the offence of culpable homicide
55213151380.



Question Number : 96 Question Id : 55213113083 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Harbouring includes supplying a person with shelter. food. money or conveyance
Reason (R): The supply must relate to evading apprehension.

Options :

(A) 1s correct clarification but (R) 1s not the correct reason.
55213151381.

(A) 1s not true while (R) is the correct explanation.
55213151382.

Both (A) and (R) are correct propositions.
55213151383.

Ouly in exceptional situation (R) 1s the reason of (A).
55213151384.

Question Number : 97 Question Id : 55213113084 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Read Assertion (4) and Reason (R) and with the help of codes given below decide what offence 1f any was commuitted?

Assertion (A): A and Z agree to fence with each ofher for a game. But because of foul. despite playing
fairly, Z was mjured.

Reason (R):

a. Nooffence by virtue of consent between A and Z

b, Consent was obtained in good farth to gain prize, so no offence by A,

¢. A crimimally liable because he had knowledge about the Lkelihood of myury,
d. Despite implied consent the intention was bad so A 1s liable.

Options :

55913151385, Reason 'a' 1s true when 'b'. '¢' and 'd’ are not asserted.

Reason 'b' 1s true when 'a'. '¢' and "d’ are not asserted.
55213151386.

Reason 'c' 1s true when 'a’. 'b' and 'd’ are not asserted.
55213151387.

Reason 'd’ 1s true when 'a'. 'b' and '¢' are not asserted.
55213151388.

Question Number : 98 Question Id : 55213113085 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following judgements of the Supreme Court of India decriminalized Adultery?
Options :
Naaz Foundation Vs. Union of India

55213151389.

Armindhati Rov Vs. Union of India
55213151390. g



Joseph Shine Vs. Union of India
55213151391.

Navtej Sing Johar Vs. Union of India
55213151392.

Question Number : 99 Question Id : 55213113086 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): As a general rule, motive 1s not relevant to determine a person’s liability in the

Law of Torts.

Reason (R): A wrongful act does not become lawful merely because the motive 15 good.
similarly a lawful act does not become wrongful because of a bad motive or malice.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
55213151393.

Both (A) and (R) are true. but (R) is not a correct explanation of (A)
55213151394. ; k

(A) 1s true but (R) is false
55213151395.

(A) 1s false. but (R) is true
55213151396.

Question Number : 100 Question Id : 55213113087 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Following are the decided cases of the Supreme Court relating to the vicarious Liability of the State. Put
them in the chronological order in which they were decided. Use the codes given below.
1. Saheli Vs. Commussioner of Police, Dellu
ii. Bhim Singh Vs. State of I&K
i1, State of Andhra Pradesh Vs, Challa Ramakrishna Reddy
iv. Rudal Sah Vs. State of Bihar

Options :

55213151397, 11+ - 1V and iil

1v. 111. 11 and 1
55213151398.

1v. 11. 1 and 111
55213151399.

11. 111. 1v and 1
55213151400.

Question Number : 101 Question Id : 55213113088 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List- ( General Defences under Tort Law) with List-TI( decided cases) and choose the correct
answer by using the codes given below:

List-1 List-1I
1. Volenti non fit injuria a.  Brown Vs. Kendall
2. Actof God b. Thomas Vs. Quartermaine
3. Inevitable Accident ¢. Vaughan Vs. Taff Valde Rail Co.
4, Statutory Authority d. Nochols Vs. Marsland

Options :



55213151401,
1-d. 2-a. 3-b. 4-¢
55213151402.
B 2 da i
55213151403, L0 2°d. 3-a. d-c
l1-¢. 2-d. 3-a. 4-b
55213151404,

Question Number : 102 Question Id : 55213113089 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements from the following and answer by using the codes given below:
1. An “Act of State’ 15 one for which no action could Lie.
1. Parents are liable for children’s torts.
iil. There could be no contribution between the joint tortfeasors.
iv. Husband is liable for the torts of his wife commutted after marriage.

Options :

1 and 11 only
55213151405.

11 and iii only
55213151406.

11 and 1v only
55213151407.

i1 and 1v only
55213151408.



Question Number : 103 Question Id : 55213113090 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

In which one of the following defences available to the defendant, in an action for defamation. it is

necessary that the statement must have been made by the defendant without any malice:

Options :

55213151409, 110D

Fair Comment
55213151410.

Absolute privilege
55213151411.

Qualified privilege
55213151412.

Question Number : 104 Question Id : 55213113091 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

There are two main tests to determine whether the damage is remote or not: the test of reasonable
foresight and the test of directness. The first authority for the view advocating the test of directness
is the case of

Options :

1;; d / ; "
55213151413. Hughes Vs. Lord Advocate

Smith Vs. London and South Western Railway Co.
55213151414.



Re Polemis and Furness. Whity & Co. Ltd.
55213151415.

Overseas tankship (UK) Ltd. Vs. Morts Dock and Engg. Co. Ltd.
55213151416.

Question Number : 105 Question Id : 55213113092 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Following are the decided cases of the Supreme Court relating to medical services under the
Consumer Protection Act, Put them in the chronological order i which they were decided. Use the
codes given below.
1. Kunal Saha Vs. AMRI Hospital
i, Spring Meadows hospital Vs. Harjot Ahluwalia
i1, Indian Medical Association Vs. V.P, Shantha
iv. Charan Singh Vs. Healing Touch Hospital
Options :
1ii. 1. 1v and i1

55213151417.

11, 1v. 11 and 1
55213151418.

1v. 11. 1 and 111
55213151419.

1. 1. v and 1
55213151420.

Question Number : 106 Question Id : 55213113093 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match List-I (Sections of the Competition Act 2002) with List-IT (subject matter covered in those
sections) and choose the correct answer by using the codes given below:

List-1 List-1I
I. Section 3 a. Establishment of Competition Commuission of India
2. Section 4 b. Regulation of combinations
3. Section 6 ¢. Anfi-competitive agreements
4. Section 7 d. Abuse of dominant position
Options :
l-c. 2-a. 3-d. 4-b
55213151421.
1-d. 2-a. 3-b. 4-¢c
55213151422.
1-d. 2-c. 3-b. 4-a
55213151423.
l-c. 2-d. 3-b. 4-a
55213151424.

Question Number : 107 Question Id : 55213113094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Read Assertion (A) and Reason(R ) and point out the correct explanation given below:
Assertion (A): The Motor Vehicles Act recognizes both with and without fault liability.

Reason (R): if there s a lut and run motor accident. 1.e.. the accident arising out of the use of

amotor velicle the identity whereof cannot be ascertamed n spite of reasonable efforts.
there 1s a special provision for payment of compensation i such a case.



Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
55213151425.

Both (A) and (R) are true. but (R) 1s not a correct explanation of (A)
55213151426.

55213151427 (A) is true but (R) is false

(A) 1s false. but (R) 1s true
55213151428.

Question Number : 108 Question Id : 55213113095 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A unilateral contract in which only one party 1s bound. is also known as a

Options :

Tacit contract
55213151429.

Implied contract
55213151430.

Executed contract
55213151431.

Executor contract
55213151432.

Question Number : 109 Question Id : 55213113096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The principle ‘Restitution stops where repayment begins’ can be applied against

Options :

An alien enemy only
55213151433.

Minors only
55213151434.

Lunatics only
55213151435.

Any incapable person
55213151436.

Question Number : 110 Question Id : 55213113097 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following are the essential characteristics of a wager?
1. Mutual chance of gain or loss 1.e.. one party winning and the other losing
i1. Neither party has control over the event
1. Uncertain event, which is generally a future event

Select the correct answer using the code given below:

Options:

1 and 11
55213151437.

11 and 111
55213151438.



1 and 111
55213151439.

1. 11 and 111
55213151440.

Question Number : 111 Question Id : 55213113098 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0

The well-known case Bengal Coal Ltd Vs. Home Wadia & Co. related to:

Options :

Consideration
55213151441.

Tender
55213151442.

Damages
55213151443.

Guarantee
55213151444,
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The meanimng of expression ‘sale of goods’ was considered by a Constitution Bench i the case of

Options :

55213151445.



State of Madras Vs. Gannon Dunkeriey & Co.Ltd

Vikas Sales Corporation Vs. CCT
55213151446.

New India Sugar Mills Vs. CST
55213151447.

State of MP and others Vs. Orient Paper Mills
55213151448.

Question Number : 113 Question Id : 55213113100 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following Sections of the Specific Relief Act deals with cases where an mjunction may

be refused?
Options :

55213151449, Section 40

Section 41
55213151450.

Section 42
55213151451.

Section 43
55213151452.

Question Number : 114 Question Id : 55213113101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a valid partnership?
Options :

Between two firms
55213151453.

55213151454, Between one firm and an individual

Between one individual and Hindu Undivided Famuly
55213151455.

Between individual members of one firm and individual members of another firm
55213151456.

Question Number : 115 Question Id : 55213113102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The maker of the promissory note stands in immediate relation with

Options :

55213151457, L avee

Indorser
55213151458.

Acceptor
55213151459.

Holder
55213151460.



Question Number : 116 Question Id : 55213113103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Which corporate governance report focused specially on non-executive directors?

Options :

The Smith Report
55213151461.

The Greenbury Report
55213151462.

The Hampel Report
55213151463.

The Higgs Report
55213151464.

Question Number : 117 Question Id : 55213113104 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the oldest source of law?

Options :

Narada Smriti
55213151465.

Manu Smuriti
55213151466.



Yajnavalkya Smrifi
55213151467.

Brihaspati Smriti
55213151468.

Question Number : 118 Question Id : 55213113105 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): Mitakshra School recogmizes right of survivorship m the mherited property.
Reason (R): if one of the brothers dies. his widow’s rights in the property 15 excluded by the right of
survivorship of the brothers.
Options :

Both (A) and (R) are true and (R) 1s correct explanation to (A)
55213151469.

Both (A) and (R) are true but (R) 1s not correct explanation to (A)
55213151470. d

(A) 1s true but (R) 1s false
55213151471.

(A) 1s false but (R) is true
55213151472.
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Khvar-Ul-Bullugh means

Options :

Muta marriage
55213151473.

Nikhanama
55213151474,

Option of Puberty
55213151475.

Fasid Marriage
55213151476.

Question Number : 120 Question Id : 55213113107 Question Type : MCQ Option Shuffling : Yes
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During the judicial separation. the parties -

Options :
Cease to be wife and husband
55213151477.
Continue to be wite and husband
55213151478.
Continue to be wife and husband but can’t live under same roof
55213151479.

Continue to be wife and husband without any marital rights and obligations.
55213151480.
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Match the following

List-1 List—1II
I. Harvinder Kaur v.Harmendar Kaur a. Divorce on the basis of cruelty
2. Mr.X v.Hospital Z b. Restitution of Conjugal rights
3. Shoba Rani v Madhmkar Reddy ¢. Irretrievable breakdown of marriage
4. Parthar v.Parthar d. Right to marry
Options :
1-a. 2-b. 3-c. 4-d
55213151481.
1-b. 2-d. 3-a. 4-c
55213151482.
1-b, 2-c. 3-a. 4-d
55213151483.
l1-c. 2-d. 3-b. 4-a
55213151484.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Talag-e-Hasan means-
Options :

Pronouncement of talaq three times at one Tuhr
55213151485.



Pronouncement of talaq three times during three successive Tuhrs

55213151486.

Single pronouncement during Tuhr
55213151487.

Single pronouncement during menstruation period
55213151488.

Question Number : 123 Question Id : 55213113110 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

“Amree” means
Options :

Gift of a life interest
55213151489.

55213151490 Conditional gift

Future gift
55213151491. )

Actionable claim
55213151492.
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A Hindu girl aged 22 years marries her maternal uncle’s son aged 21 years under the Special
Marriage Act.1954.The marriage is-

Options :

55213151493, Valid

Voidable
55213151494,

Null &Void
55213151495.

Irregular
55213151496.
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The UNDRIP is

Options:

The United Nations Declaration on the Rights of Indigenous People
55213151497. a2

The United Nations Directive on Reservations in Property
55213151498. .

The United Nations Disabilitv Rights of Persons
55213151499. 2 =

The United Nations Declaration of Rights in Intellectual Property
55213151500. N
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Cultural Relativism has meant that

Options:

divergent cultures should be respected
55213151501.

culture leads to conflict
55213151502.

that western culture is the source for human rights
55213151503.

multiculturalism 1s a human right
55213151504.
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The Supreme Court of India has constituted a Constitution Bench to hear a petition on FGM
(Female Genital Mutilation) which is claimed to be a part of the religious freedoms on this
community

Options:

The Parsi community
55213151505.

The Dawoodi Bohra community
55213151506.



The Dongria Kond community
55213151507.

Jehovah’s witnesses
55213151508.
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Arrange them in the order of the vear they were declared i

1. The Declaration of the Rights of Man

1. The American Declaration of Independence
iii. The Magna Carta
1v. The Umversal Declaration of Human Rights

Options :

111, it 1 and 1v
55213151509.

1, 11. 111 and 1%
55213151510.

111, 1. 11 and 1v
55213151511.

1v. 111, 1 and 11
55213151512.
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The Convention that has the distinction of being the most rapidly ratified Human Rights Convention is

Options :

The Universal Declaration on Human Rights (UDHR)
55213151513.

The International Covenant on Civil and Political Rights (ICCPR)
55213151514.

The International Covenant on Economic, Social and Cultural Rights (ICESCR)
55213151515.

The Convention on the Rights of the Child (CRC)
55213151516.
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The exchange of scientific and technical knowledge as a means of strengtheming capacity building
for sustamable development 1s found n

i Principle 20 of the Stockholm Declaration
i.  Principle 9 of the Rio Declaration
it Chapter 40 of Agenda 21
v,  Article 26 of the UDHR

Options:

55213151517, * andiitonly



1. 11 and 111

55213151518.

11 and 1v
55213151519.

only 1v
55213151520.
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The beginning of the environmental movement is attributed to a book called “silent spring” which was on

Options:

Pesticide pollution
55213151521.

Water Pollution
55213151522,

Air Pollution
55213151523.

Climate change
55213151524.

Question Number : 132 Question Id : 55213113119 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Environmental Impact Assessment 1s mandatory for

Options :

All projects likely to affect the environment
55213151525.

29 categories of development activities with an investment of over 50 crores
55213151526.

All development projects with an investment of above 50 crores
55213151527.

All mining projects only
55213151528.
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Which industry in TamilNadu was closed due to non-compliance with environmental laws
Options :
Sterlite Industries

55213151529.

Hindustan Coca Cola Beverages Private Limited
55213151530.

Orissa Mining Corporation
55213151531. =

India Point nuclear reactor
55213151532.
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The term “Patent™ 1s defined under Section ------------ of the Patents Act. 1970

Options :

- pamm
55213151533, Seetion 2(1)

Section 2(c¢)
55213151534.

Section 2(m)
55213151535.

Section 2(f)
55213151536.
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The term of every patent granted. after the commencement of the Patents (Amendment)

Act, 2002 shall be ---=------- years from the date of filing of the application.
Options :
55213151537. ke
20
55213151538.
6

55213151539.



10
55213151540.

Question Number : 136 Question Id : 55213113123 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not an intellectual property law?
Options:

Copyright Act. 1957
55213151541.

Trademark Act. 1999
55213151542.

Design Act. 2000
55213151543.

Customs Act. 1962
55213151544,
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The Information Technology Act was enacted in the year 2000 with a view to
1. givea fillip to the growth of electronic based transaction
i, provide legal recognition for e-commerce and e-transactions
ill, prevent cyber terrorism
iv. facilitate e-governance

v. prevent computer based crimes and ensure security practices and procedures m the context
of widest possible use of information technology worldwide

Options :

1. 11 and 111
55213151545.

1. 11. 111 and 1v
55213151546.

1. 11, 1vand v
55213151547.

i1, 11, ivand v
55213151548.
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Which Provision of the Information Technology Act, 2000 deals with legal recognition of Electronic
Signature?
Options :

Section 2
55213151549,

Section 5
55213151550.



Section 4
55213151551.

Section 3
55213151552,
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Who among the following may transfer a member of Cyber Appellate Tribunal from one Bench to

another Bench?
Options:

The President of India
55213151553.

The Chief Justice of India
55213151554,

The Chairperson. Cyber Appellate Tribunal
55213151555.

The Central Government
55213151556.

Question Number : 140 Question Id : 55213113127 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following was the first registered Geographical Indication of Goods in India?

Options:

55213151557. Pochampally Ikat

Bengali Rasagulla

55213151558.
Darjeeling Tea
55213151559. ‘ -
Hyderabadi Haleem
55213151560.
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In which of the following cases. the Delhi High Court held that — “the action of the University of
making a master photo copy of the relevant portions (Prescribed in syllabus) of the books of the
plantiffs purchased by the ...... University and kept in its library and making further photocopies out
of the said master copy and distributing the same to the students does not Constitute mfringement of
Copyright in the said books...™

Options:

The Commussioner of Income tax. New Dellu Vs. M/s East-West imports and exports
55213151561.

Macknnon Machenzine & Co.(P) Ltd Vs. Ibrahim Mohd.Issak
55213151562.

Naveen Desai Vs. Eastern Book Co.
55213151563.

55213151564.



The Chancellor. Masters and Scholars of the University of Oxford Vs. Rameshwar
Photocopy Services
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The model of federalism that is said to prevail in India 1s the

Options :
Coming together model
55213151565. i
holding together model
55213151566.
consociation model
55213151567.
confederation model
55213151568.
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The Separation of Powers in India is not a rigid separation of powers largely because of

Options :

The West-munster style of government
552131515609.



The Semi-presidentialism model
55213151570.

The Quasi-federal model of government
55213151571. '

The Presidential model of government
55213151572.

Question Number : 144 Question Id : 55213113131 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

In the Canadian model of Federalism residuary powers are conferred upon
Options :

The provinces
55213151573.

On the dominion
55213151574.

On both province and dominion
55213151575.

There are no residuary powers
55213151576.
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The federal Supreme Court of Switzerland hears disputes concerning
Options :

Federal and Cantonal provisions on Political rights
55213151577.

Only questions referred to it by the Federal Government
55213151578.

Only matters concerning constitutional matters referred to it by the legislation
55213151579.

Federal and cantonal provisions on non-political rights
55213151580.
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Amending the Bill of Rights in the constitution of South Africa requires

Options :

A special majority of 2/3 of members of the National Assembly . National Council of Provinces

6213151581 and a supporting vote from at least 6 Provinces

A special majority of 3/4 of the members of the National Assembly. the National Council of

Provinces and at least 6 of the Provinces
55213151582.

A simple majority
55213151583. P g

A referendum
55213151584,
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Match the following:

List-1 List-1I
1. Presidential system with a rigid separation of powers a. India
2. Semi-Presidential system combined with a parliamentary system b. USA
3. Parliamentary system with a constitutional monarchy ¢. France
4. Parliamentary system with a elected Head of State d. Canada
Options:
1-b. 2-c. 3-d. 4-a
55213151585.
-a. 2-b. 3-c. 4-
55213151586, 1% 270 36, 4-d
1-b, 2-c. 3-a. 4-d
55213151587.
1-c. 2-d. 3-b. 4-a
55213151588.
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Match the following

List -1 List-II
l. Sweden a. Judicial Appointments and Conduct Ombudsman
2. United Kingdom b. Chief Vigilance Officer
3. India ¢. Parliamentary Ombudsman
Options:
l-c. 2-a. 3-b
55213151589.
1-a. 2-b. 3-c
55213151590.
1-b. 2-a. 3-c
55213151591.
l1-c. 2-b. 3-a
55213151592.
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The need for Judicial review in constitutional regimes is based on several norms. Connect the
domimant norm underlying the judicial istitutions i each of these jurisdictions

List-1I List-1I
1. Separation of powers a. India
2. Rule of law b. USA
3. Sovereignty of the constitution c. UK

Options :



1-b. 2-c. 3-a

55213151593.

1-a. 2-b. 3-¢
55213151594,

1-c. 2-b. 3-a
55213151595.

1-b. 2-a. 3-¢
55213151596.
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Assertion (A): Constitutional Scholarship 1s trying to develop Constitutional Law’s formal
supremacy info a substantive influence of constitutional arguments i legal
discourse 1n general.

Reason (R): This is happening by way of strengthening of fundamental and human rights.
constitutional judicial review. constitutionalisation of the legal order, the

comprehension of constitutional principles as social values and the perception of
constitutional law as a vehicle for social integration.

Options :

Both (A) and (R) are true but (R) 1s not the correct explanation for (A).
55213151597.

Both (A) and (R) are true and (R) is the correct explanation for (A)
55213151598.

(A) 1s true. but (R) 1s false
55213151599.



(A) 1s false. but (R) 1s true
55213151600.



